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e Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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59T Yo &1 I Uk JTaFT H &7 39T 2 1

(iv) Io7 G&IT 5- 6 3K 17- 18 THIHE o7 8, 570 T35 & 3 3% & |
Jedh &1 I GIHTIT: 60 Isq] & 37fer 787 17 F1i5q |

(v)  IT G 7T-9 3R 19-21 W TLHIHE J97 8, 579 539% & 4 375 & |
I HT IR GIHI=IT: 70 Yol @ 371 a1 5147 =1fzy |

(i) ¥ &I 10-12 3K 22 - 24 J° S0cAS 97 &, 574 39% & 6 3%
& | Y% 7 I GrET=Id: 100 Jsel & 3iee 751 547 F1a0 |

(vii) IR TIETT TIT TeIIHFE &1 FMMT TUT INEHT FH 31T Jeg ST & ST
&7 faw s17 F7faw |

General Instructions :
(1) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 5§ -6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Question Nos. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
(MICROECONOMICS)
1. 20 SHEAN [IhT T W Fa FUIed T 700 Rid git & | 213 gb13 1 ToIsh
HE " T 70 hH Hud guriea i gt 8 | P 21 THEAT [IhT P W

IIiTd P T 1 e B | (Tt fashew o1 ==m hifs) 1
(®) T 721 (@) <630
(M) =770 (") T 720

The Total Revenue earned by selling 20 units is ¥ 700. Marginal
Revenue earned by selling 215t unit is ¥ 70 . The value of Total Revenue

earned by selling total 21 units will be . (Choose the correct
alternative)

(a) T 721 (b) %1630

(c) T 770 () < 720

2. feu o fom @ &g Xodun avq Y @& faw, X Y, du XY, A9, @ fafi=
THAET Ty AT Ty H, ICUTe THISHT G5h & | Q1 G0 @R § A 3 Ay
TREATeh IcaTe qeT Py 3T Py WU 3cdTe bl ShAST: TSR id & |

O

TG X 3N Y o IrEdfaeh Icae §, g1 999 afe=i 4, giEaq
gwera g1 weia grm | (feh sa™ 1 gfd i) 1
(%) Ag¥ Py (@) A8 Py
(M) P1H Ay (F) AjE A
HAAAT
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gigd sl dimra et (MRT) feor 2 | vl feafa 8 99 e 3cares g9maqT 9
qa-feg g | (e wam gl HiNe)

In the given figure X;Y; and XyY,y are Production Possibility Curves in
two different periods T; and Ty respectively for Good X and Good Y.
A; and Ay represent actual outputs and P; and Py represent potential

outputs respectively in the two time periods.

Good Y

! Good X

The change in actual output of Goods X and Y over the two periods

would be represented by movement from . (Fill up the blank)
(a) A2 to P2 (b) Al to Pz
(C) Pl to A2 (d) Al to A2

OR

The Marginal Rate of Transformation (MRT) is constant. The Production

Possibility Curve, so formed, would be to the origin.

(Fill up the blank)
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3.  31yul yfifiar & ofavid, f|d dufed (AR), @@ &wifed (MR)
Bt 8 | (ko 1 qfd shifsm) 1
ateran

““ged § e WA % foiu dm@ @witd (MR) dum 9@ @rd (MC)
_ it =nfew qen 3§ IcTed &R % o1¢ @A An B
=1fge 1”7 (feh wam 1 4fd i) 1

Under imperfect competition, Average Revenue (AR) remains
Marginal Revenue (MR). (Fill up the blank)

OR
“For a firm to be in equilibrium, Marginal Revenue (MR) and Marginal
Cost (MC) must be and beyond that level of output Marginal
Cost must be . (Fill up the blank)

4. IR qfd 9% Sealgd A& (Y-H4) o UG Th el @ 7, @ a&q Al 9
_ wgant g | (e &H #qid Fifw) 1

%) ThI3 oh S AEER qfd
@) qofd: R g

T) YU SeEeR qid

°)  qUid: e 91

If the supply curve is a straight line parallel to the vertical axis (Y-axis),

(
(
(
(

supply of the good is called as . (Fill up the blank)
(a)  Unitary Elastic Supply

(b)  Perfectly Elastic Supply

(c) Perfectly Inelastic Supply

(d)  Perfectly Elastic Demand
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5.  GehWIcHS STAVTET qAT ATERIh AV T, ITYFd 3¢ dfgd, Tl T
HIfT |

Distinguish between positive economics and normative economics, with
suitable examples.

6. TUH oo Il hl TRl ¥ €W IWEfEr ™ W e
T |
YT
T (e ST o1 TR € AT o e i =amen $il |

Explain the law of diminishing marginal utility, with the help of a

hypothetical schedule.
OR

Elaborate the law of demand, with the help of a hypothetical schedule.

7. U 9% h IR GdeH H @ | A d1d () THA T W, Th AT i
%md | glg fh8 SRR e shiFd qT dqo HET @l SuTfad sl ? == &
TRINT & HHesy |

The market for a good is in equilibrium. How would an increase in an
input price affect the equilibrium price and equilibrium quantity,
keeping other factors constant ? Explain using a diagram.

Fie:  FAECIET 397 FI FIEFTAT GhgnteEl & 1078, 397 G&I 7 & 9 T
8 :

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 7 :

T %] 1 IWR Gga H 8 | 3 91d (FRh) M T W, Th A0 h
$d H ghg FrE TR Ao hHAd qAT Fgad HET i GHIGd w2
qHATRT |

The market for a good is in equilibrium. How would an increase in an

input price affect the equilibrium price and equilibrium quantity,
keeping other factors constant ? Explain.
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8. (%) &g XhI 6l i hHWa A= B MR (<) 0-2 7 | IS TG hI HAd H
5% 1 gfg Bt B, 1 &g sht wift € A e fwra & 9 gl 2

(@) fTfaied wim 6 Hmd A= % ORI H Sed g (ITNET) A |
SRIEE 4
(=) 31, =02, (-)11

HAAT

YA o “TEIE T MARATY I%g o 9§ H gH W, I%q ol 7 fRE
YR gTerd Bt 2 Fo <hl Hgr=aT © RSy | 4

(a)  The coefficient of price elasticity of demand for Good X is (-) 0-2. If
there is a 5% increase in the price of the good, by what percentage
will the quantity demanded for the good fall ?

(b)  Arrange the following coefficients of price elasticity of demand in
ascending order :

=31, )02, (911

OR
How would the demand for a commodity be affected by a change in
“tastes and preferences” of the consumers in favour of the commodity ?
Explain using a diagram.

Fie:  [AEliad FeT dac gieEnad qhemdat & o, J97 a&7r 8 (1d%ey)
FTITRE :

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 8 (Alternative) :

IJUHIRATSAT o ‘TG F MARRAY J%g o 9§ H gH W, I hl 7 RE
YRR JHTfed BRT ? §HeIS | 4
How would the demand for a commodity be affected by a change in

“tastes and preferences” of the consumers in favour of the commodity ?
Explain.
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9. fTmafifgd & @ -8 ®eF T&7 o 7o7g & ? T I o GHAA H IuTH
S T |
(%) offed AT o, 31Ed qiEd] AT o5k i Ik A0 &R T Hedl
2|
(@) 3ibd 3cd1g dsh aUT HHIG IcdTg dsh U-3ATHhI o 3 BMd @ |
() ot e afteafaat °, faa gurfta qen Hura quiitd stk 81d 2 |
(9) o AN G5 AT HA INGd AT A5 Teh-GH b THIAR B @ |
T

T HIc(eh ST 1 AN HLd gY, Teh U1 TR 1 o Hqo shi same
e |

Which of the following statements are ¢rue or false ? Give valid reasons

in support of your answer.

(a)  Average cost curve cuts Average variable cost curve, at its

minimum level.

(b)  Average product curve and Marginal product curve are
‘U-shaped’ curves.

(¢)  Under all market conditions, Average revenue and Marginal
revenue are equal to each other.

(d)  Total cost curve and Total variable cost curve are parallel to each
other.
OR

Explain a firm’s equilibrium wunder perfect competition, using a
hypothetical schedule.

10.  ITCUTERhI AR 61 FefetRad fommarsti o o1 i Sare HiT
(%) e gfaeadt
(@) u fashar
Explain the meaning of the following features of the Oligopoly Market :

(a)  Non-Price Competition
(b)  Few Sellers
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11. (%) U UEdi e & d¢d gY Hfdhal § &1 dredd & ?
(@) U giEdl HNH % F2d §T Ud%a o foheal al HRON H &9 § ==
IR | 2+4

(a)  What is meant by increasing returns to a variable factor ?

(b)  Discuss briefly, any two reasons for the decreasing returns to a

variable factor.

12. ffafga afifeafat 6 smen Hifve 3+3
(%) Uh & FARHN T5h W T |
(@) = mftme o @ 3= JAREE 9% | ReawsE |

YT
gr-Hmra Iwfar fFrm & sare Hifve ) 6

Explain the following conditions :
(a) Movement along the sameindifference curve.

(b)  Shift from a lower to'a higher indifference curve.

OR

Explain the Law of Equi-Marginal Utility.

QU o
(wafse arefome)

SECTION B
(MACROECONOMICS)

13. WA Soe #, STfHeh =T S B, S | (1 ferehed =1 =I5
hifre) 1

%) TSEd He YA B

g) g &S YaH I &

) USRI =TT I &

) TSN =TeT ST T o SeR &l

(
(
(
(

q9
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Primary deficit in a government budget will be zero, when
(Choose the correct alternative)

(a) Revenue deficit is zero
(b) Net interest payments are zero
(¢) Fiscal deficit is zero

(d)  Fiscal deficit is equal to interest payment

14. T Adaedn # fom 1 Aiedifed & & faw, sga o6 T
TRl & | (el ferehed o1 =1 shife)
(%) e ARfera U | Sl
(@) e sfie s A I
(1) G IR H FERRT Sfaqiai & s
(@) Fwd g
In order to encourage investment in the economy, the Central Bank may
. (Choose the correct alternative)
(a)  Reduce Cash Reserve Ratio
(b)  Increase Cash Reserve Ratio
(c) Sell Government securities in open market

(d) Increase Bank Rate

15. Jc¥& L ¥ 319 1 HSd B ?

AT

YT HT T AT T IHd & ?

What do you mean by a direct tax ?
OR

What do you mean by an indirect tax ?
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16. Tg1 Uik i wfenfya HifSw | 1

Define ‘money multiplier’.

17. 3¢ Wi 394 SR (MPC) 0-8 8 a1 YRy Haw § fEdd T 1,000 S
7, df 31faq 1= # gitada <t TuET il | 3
Calculate change in final income, if Marginal Propensity to Consume

(MPC) is 0-8 and change in inital investment is ¥ 1,000 crores.

18. <9 & fuga & 3raria “srfemin” 1 tdeges § USHTR W 9 I I9TE
%1 3@ T | 3
Srera
Frfataa 1 21 s . 3
(%) T S
(@) 7o TR
() R U

State the impact of “Excess Demand” under the Keynesian theory on
employment, in an economy.

OR
State the meaning of the following :
(a) Ex-Ante Savings
(b)  Full Employment

(c) Autonomous Consumption

19. Tfafea wemt & uoea witadt = dSfma wiftaat & anffepa hifsie | s1om
I o T H 9P SR T | 4
(%) Th a1 TWIled 3Tk 6 Rfedl o oty forelt sgusdia i g forfta
Heg |
(@) wTEde & H Th IHE 6 AW (J) h TH A wE,
Y fafies =t foshi |
() R T2 S gRT THR Dl AT PIAH |
(") STaUST gl Y (IMF) & foram mm == |
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Classify the following statements as revenue receipts or capital receipts.

Give valid reasons in support of your answer.

(a)  Financial help from a multinational corporation for victims in a

flood affected area.

(b)  Sale of shares of a Public Sector Undertaking (PSU) to a private
company, Y Ltd.

(c) Dividends paid to the Government by the State Bank of India.

(d)  Borrowings from International Monetary Fund (IMF).

20. “AfUs Tha =i UG (GDP) 1. qTc9d AdSTewe § aeqali i e ufd
e IqAHdT BIdL. 217 T 3T U W 6o 8 Hgqd & ? 3794 I o gHd
o ITFd HRT G |

AT

Tsh HEATCHS 3QTE % YANL H, dTEdfash Hehel SRcl 3cdle aol Hifgeh Tehd
T IYTE T 371 TS |

“Higher Gross Domestic Product (GDP) means greater per capita
availability of goods in the economy.” Do you agree with the given

statement ? Give valid reason in support of your answer.
OR

Explain the meaning of Real Gross Domestic Product and Nominal

Gross Domestic Product, using a numerical example.

21. o % gRI 9@ e o fow e fohw SIH ater ToeHeh qem HAETcHeh
TR | IR T HIT |

Distinguish between ‘Qualitative and Quantitative tools’ of credit control

as may be used by a Central Bank.
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22. (%) “IUR ARRY’ 9o ‘R =rer’ @ aiiyd i |

(@) foaceft ggr @ frafor 6 yafa fowd gomeft it sragmen 6 g o ==t
HIT | 3+3

(a)  Define “Trade Surplus” and “Trade Deficit”.

(b)  Discuss briefly the concept of managed floating system of foreign
exchange rate determination.

23. TrfaRaa gideafai § SurisH 7 %1 == T 6
(%) @=F AT, 999 qfd 9 HH 3|
(@) gt e, Seenfsg s=a 4 2fee & |
Discuss the adjustment mechanism in the following situations :
(a)  Aggregate demand is lesser than Aggregate Supply.

(b)  Ex-Ante Investments are greater than Ex-Ante Savings.

24, Frefafiagd =1 T iR ; 6
(F) T3 3G

(@) Yhd =] 3cUG

(T) ¥a® =

(9) EHfa qen ITEsfied § I 3T

AT
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feu MU TeRet W IMUR W, “Fehdt W Yot v qen “vemem sAfeRm” %
e Fd IR |

3, - . :S'g} 5
G) | ™ 22,100
(i) |wigld & o 12,000
i) | it 3ffm Suwm == 7,200
(iv) | UG STIHE hl 700
(v) | e TR ot Fmior ?
(vi) | AIRH 500
(vii) | ShT STferH YA S 6,100

(vii) | ¥a-FETa i fise s 4,800
(ix) | TaTe A ?
(x) | e i 3,400
(xi) | Teptram 1,200
(xii) | Teremnt & wreq feret wem a1 (—) 150

Define the following :

(a) Value Addition
(b) Gross Domestic Product
(¢) Flow Variables

(d) Income from property and entrepreneurship

OR
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Given the following data, find the values of “Gross Domestic Capital

Formation” and “Operating Surplus”.

S. No. Particulars A.mount
(< in crores)
(1) National Income 22,100
(i1)) | Wages and Salaries 12,000
(iii) | Private Final Consumption Expenditure 7,200
(iv) | Net Indirect Taxes 700
(v) | Gross Domestic Capital Formation ?
(vi) | Depreciation 500
(vii) | Government Final Consumption Expenditure 6,100
(viii) | Mixed Income of Self-Employed 4,800
(ix) | Operating Surplus ?
(x) | Net Exports 3,400
(xi) | Rent 1,200
(xii) | Net Factor Income from Abroad (=) 150
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